TABULATION SHEET			VENDOR #1		VENDOR #2		VENDOR #3	
1.1202.11101.1011			Oak Farms		Milk Products, LLC dba			
					Borden Dairy			
Bid No. 2011-078-5613			3114 South Haskell Avenue					
			Dallas, TX 75223		5327 S. Lamar Street			
Annual Contract for the Purchase of			Chris Boyle		Dallas, TX 75215			
Dairy Products								
			214-824-8163		Ray Gibson			
Opening Date:06-Jun-2011			214-818-3407 - Fax		214-565-0332			
					214-426-5841 - Fax			
Effective Date: 21-Jul-2011 - 20-Jul-								
D 15 Ct 1 214 (52 5 (00								
Buyer: Mary Stephens 214.653.7690								
DESCRIPTION:	Est.		Recommended for award					
DESCRIPTION:	Qty.		Recommended for award					
	Qıy.							
NCTRCA Certified Vendor (M/Wbe)			No		No			
M/WBE EE01 Form			Yes		No	+		
Dallas County Taxpayer?			Yes		Yes			
How were you notified?					Letter from Dallas County			
1. Milk, White, Grade A	10,000	pints	0.2699	\$2,699.00	0.2870	\$ 2,870.00		\$ -
Homogenized and pasteurized		1						
Type: Whole								
Size: ½ pint carton								
			Bid price is for Hpt		Bid price is for 1/2 pint			
Specify Quantity per Case:			50		50			
Specify Brand and Item Number:			Oak Farms #23098		12787			
2. Milk, White, Grade A	######	pints	0.2699	\$53,980.00	0.2870	#########		\$ -
Homogenized and pasteurized								
Type: 2% - Reduced Fat								
Size: ½ pint carton								
			Bid price is for Hpt		Bid price is for 1/2 pint			
Specify Quantity per Case:			50 Oak Farms #23103		50	+		
Specify Brand and Item Number:			Oak Farms #23103		14477			
3. Milk, White, Grade A	5,000	pint	0.2699	\$1,349.50	0.2870	\$ 1,435.00		\$ -
Homogenized and pasteurized	3,000	piiit	0.2099	\$1,549.50	0.2870	\$ 1,433.00		Φ -
Type: 1% - Low Fat								
Size: ½ pint carton								
			Bid price is for Hpt		Bid price is for 1/2 pint	+		
Specify Quantity per Case:			50		50			
Specify Brand and Item Number:			Oak Farms #23100		15409			
•								
4. Milk, White, Skim, ½ Pint, Grade A,	200	pint	0.2699	\$53.98	0.2870	\$ 57.40		\$ -
Homogenized and pasteurized								
Type: Skim								
Size: ½ pint carton								
			Bid price is for Hpt		Bid price is for 1/2 pint			
Specify Quantity per Case:			50		50			
Specify Brand and Item Number:			Oak farms #22836		15405			

TABULATION SHEET			VENDOR #1		VENDOR #2		VENDOR #3	
			Oak Farms		Milk Products, LLC dba			
					Borden Dairy			
Bid No. 2011-078-5613			3114 South Haskell Avenue					
			Dallas, TX 75223		5327 S. Lamar Street			
<b>Annual Contract for the Purchase of</b>			Chris Boyle		Dallas, TX 75215			
Dairy Products								
			214-824-8163		Ray Gibson			
Opening Date:06-Jun-2011			214-818-3407 - Fax		214-565-0332			
Effective Date: 21-Jul-2011 - 20-Jul-					214-426-5841 - Fax			
Effective Date: 21-Jui-2011 - 20-Jui-								
Buyer: Mary Stephens 214.653.7690								
DESCRIPTION:	E-4		Decemmended for award					
DESCRIPTION:	Est.		Recommended for award					
	Qty.							
5. Milk, White, Grade A 24 gallons Homogenized and pasteurized Type: Whole Size: One (1) Gallon Plastic Container	24	gallons	3.59	\$86.16	4.00	\$ 96.00		\$ -
Specify Quantity per Case:			4		4			
Specify Brand and Item Number:			Oak Farms #21252		11117			
6. Milk, White, Grade A Homogenized and pasteurized Type: 2% - Reduced Fat Size: One (1) Gallon Plastic Container	4	gallons	3.59	\$14.36	4.00	\$ 16.00		\$ -
Specify Quantity per Case:			4		4			
Specify Brand and Item Number:			Oak farms #21271		13107			
7. Milk, Chocolate, Grade A Homogenized and pasteurized Type: Whole Size: ½ pint carton	11,000	pints	0.2699	\$2,968.90	0.2870	\$ 3,157.00		\$ -
1			Bid price is for Hpt		Bid price is for 1/2 pint			
Specify Quantity per Case:			50		50			
Specify Brand and Item Number:			Oak farms #23113		16207			
8. Milk, Chocolate, Grade A Homogenized and pasteurized Type: 1% - Low Fat Size: ½ pint carton	90,000	pints	0.2699	\$24,291.00	No Bid			\$ -
~			Bid price is for Hpt					
Specify Quantity per Case:			50					
Specify Brand and Item Number:			Oak Farms #23110					
7								
9. Milk, Strawberry, Grade A, Homogenized and pasteurized Type: 1% - Low Fat Size: ½ pint carton	1,000	pints	0.2699	\$269.90	No Bid			\$ -
			Bid price is for Hpt					
Specify Quantity per Case:			50					
Specify Brand and Item Number:			Oak Farms #43155					

TABULATION SHEET			VENDOR #1		VENDOR #2		VENDOR #3	
			Oak Farms	†	Milk Products, LLC dba			
					Borden Dairy			
Bid No. 2011-078-5613			3114 South Haskell Avenue		·			
			Dallas, TX 75223		5327 S. Lamar Street			
Annual Contract for the Purchase of			Chris Boyle		Dallas, TX 75215			
Dairy Products								
			214-824-8163		Ray Gibson			
Opening Date:06-Jun-2011			214-818-3407 - Fax		214-565-0332			
					214-426-5841 - Fax			
Effective Date: 21-Jul-2011 - 20-Jul-								
Buyer: Mary Stephens 214.653.7690								
nug on the contract of the con			D 1.16					
DESCRIPTION:	Est.		Recommended for award					
	Qty.							
10. Buttermilk, Grade A	40 e	each	2.09	\$83.60	2.40	\$ 96.00		\$ -
Homogenized and pasteurized	40	cacii	2.09	\$83.00	2.40	a 90.00		<b>3</b> -
Type: 1% - Low Fat								
Size: ½ Gallon Carton								
Specify Quantity per Case:			48		9			
Specify Brand and Item Number:			Oak Farms #26486		15565			
Specify Brand and Item Number.			Oak 1 atms #20400		13303			
11. Sour Cream, Grade A, Low Fat	5 e	each	5.95	\$29.75	No Bid			\$ -
Pasteurized		acii	3.73	Ψ27.73	110 Blu			Ψ
Type: 1% - Low Fat, Baking								
Size: Five (5) pound container								
Specify Quantity per Case:			4					
Specify Brand and Item Number:			Meadowgold #10498					
Speeny Brand and Item Frances.			Internation gold in 10 150					
12. Sherbet, Individual Serving Cup	170 p	oackage	No Bid		No Bid			\$ -
Cup Size: 4 oz or less, 24 per package	S							,
Flavors: Assorted								
Specify flavor available and item numbers								
Specify serving cup size								
Specify Quantity per package								
Specify the number of packages per case								
Specify Brand and Item Number:								
13. Butter, Unsalted, Grade A	2 c	cases	95.00	\$190.00	106.20	\$ 212.40		\$ -
Size: One (1) pound block/stick -								
Specify Butter Block/Stick Size:			1#		Solids			
Specify the Number of Blocks/Stick per			36		36			
Case								
Specify Brand and Item Number:			Schepps #26521		Borden - 41817			
14.5 01.10			05.00	#100 CC	52.10	h 10520		Φ.
14. Butter, Salted, Grade A	2 c	cases	95.00	\$190.00	53.10	\$ 106.20		\$ -
Size: 1/4 pound block/stick			1.11					
Specify Butter Block/Stick Size:			1#		Quarters			
Specify the Number of Blocks/Stick per			18		18			
Case			Sahama #26446	+	Dandon 41942			
Specify Brand and Item Number:			Schepps #26446		Borden 41842			
L								<u> </u>

TABULATION SHEET			VENDOR #1		VENDOR #2		V	ENDOR #3	
			Oak Farms		Milk Products, LLC dba				
					Borden Dairy				
Bid No. 2011-078-5613			3114 South Haskell Avenue		Borden Bun y				
Did 140. 2011-076-3013					7227 C T C				
			Dallas, TX 75223		5327 S. Lamar Street				
Annual Contract for the Purchase of			Chris Boyle		Dallas, TX 75215				
Dairy Products									
			214-824-8163		Ray Gibson				
Opening Date:06-Jun-2011			214-818-3407 - Fax		214-565-0332				
					214-426-5841 - Fax				
Effective Date: 21-Jul-2011 - 20-Jul-					214-420-3041 - 1 ax				
Effective Date: 21-Jul-2011 - 20-Jul-									
Buyer: Mary Stephens 214.653.7690									
DESCRIPTION:	Est.		Recommended for award						
	Qty.								
	Qıj.								
15 F C 1 A D + 1 1	25		27.00	0.675.00	M. D. I				ф
15. Eggs, Grade A, Pasteurized	25	cases	27.00	\$675.00	No Bid				\$ -
Size: Large									
Packed: Bulk, 9 dozen per case									
Specify the Number of Eggs per Case			15 doz						
Specify Brand and Item Number:			Mahard #26528						
TOTAL			Walter #20020	\$86,881.15		#########			
				\$00,001.15	T. //0 1:11/2:	#########			
Specify any additional comments/cost/etc.					Item #8 we can bid 1/2 pint				
included with your bid proposal, if					FF Choc @ .2870 -				
applicable*:					\$25,830.00. 1% Choc no				
					longer available. Item #9				
					we can bid 1/2 pint FF				
					Straw @ .2870 - \$287.00.				
					1% Straw no longer				
Please answer the questions listed									
Is this an all or none bid?			Yes - Items 1-11		Yes				
is this an all of none blu?			res - items i-ii		res				
Specify Prompt Payment Discount Terms:			NA						
Specify the name, telephone number and e-			Gary Morgan 214-824-8163	†	Ray Gibson 214-565-0332				
mail address (if any) of the designated			Garymorgan@deanfoods.com		regibson@milkproductslp.co				
man address (if any) of the designated			Garymorgan@deamoods.com		_	,			
account representative who will be					m				
managing daily activities of this account									
Does your firm/company have the required			Yes	†	Yes				
insurance coverage stated under SECTION			103		103				
3 - INSURANCE REQUIREMENTS and									
agree to comply with these requirements									
during the duration of this contract?									1
If No, will your firm be able to acquire the				†	Yes				
required coverage within ten (10) days									
									1
upon notification of contract award?									
Please answer the questions listed below				1					
Did your company check Dallas County			Yes		Yes				
website for any addendums, updates,									1
and/or changes to the bid solicitation?									1
and/or changes to the bid solicitation?	-			1					1

TABULATION SHEET	VENDOR #1	VENDOR #2	VENDOR #3
	Oak Farms	Milk Products, LLC dba	
		Borden Dairy	
Bid No. 2011-078-5613	3114 South Haskell Avenue		
	Dallas, TX 75223	5327 S. Lamar Street	
Annual Contract for the Purchase of	Chris Boyle	Dallas, TX 75215	
Dairy Products	214 024 0172	n cu	
On oning Dates Of Jun 2011	214-824-8163 214-818-3407 - Fax	Ray Gibson 214-565-0332	
Opening Date:06-Jun-2011	214-818-3407 - Fax	214-505-0352 214-426-5841 - Fax	
Effective Date: 21-Jul-2011 - 20-Jul-		214-420-3041 - FAX	
Effective Date. 21-dui-2011 - 20-dui-			
Buyer: Mary Stephens 214.653.7690			
DESCRIPTION: Est.	Recommended for award		
Qty.			
Suspension and Debarment: The bidder	Yes	Yes	
certifies that neither the bidder, its third			
party subcontractors, not its principals is presently debarred, suspended, proposed			
for debarment, declared ineligible, or			
voluntarily excluded from participation in			
this transaction by any Federal department			
or agency and is not included on the			
Federal Excluded Parties List?			
P CAUCAL ENGINEER F GLOSS ELSC.			
Should your firm be awarded this contract,			
describe what (if any) protion of the bid			
requirements will e subcontracted out.			
Information on Provision of Health			
Insurance Coverage for Employees Dallas County may consider the provision			
of health insurance coverage for employees			
in the bid evaluation process (see page 4,			
paragraph 5). Please complete the			
information below to assist in this			
a) Does your company provide health	Yes	Yes	
insurance coverage to its employees?			
h) If your common door perside to the	Vac	Vos	
b) If your company does provide health	Yes	Yes	
insurance coverage to its employees, does the company share in the cost a minimum			
of 75% for employee only coverage and			
50% for family coverage?			
c) If your company provides health	Yes	Yes	
insurance coverage to its employees, is the			
coverage comparable to the services			
provided by Dallas County as described in			
the attached summary plan description?			
(See Attachment - A)			

TABULATION SHEET	VENDOR #1	VENDOR #2	VENDOR #3	
THE CENTROL SHEET	Oak Farms	Milk Products, LLC dba	TENE GIVE	
	Oak Latins	Borden Dairy		
Bid No. 2011-078-5613	3114 South Haskell Avenue	Borden Dan y		
Did 140. 2011-076-3013	Dallas, TX 75223	5327 S. Lamar Street		
1 1 C 1 1 C 1 C 1 C 1 C 1 C 1 C 1 C 1 C				
Annual Contract for the Purchase of	Chris Boyle	Dallas, TX 75215		
Dairy Products				
	214-824-8163	Ray Gibson		
Opening Date:06-Jun-2011	214-818-3407 - Fax	214-565-0332		
		214-426-5841 - Fax		
Effective Date: 21-Jul-2011 - 20-Jul-				
Buyer: Mary Stephens 214.653.7690				
DESCRIPTION:	Est. Recommended for award			
	Qty.			
d) If your company plans to utilize	NA	No		
subcontractors in the fulfillment of this				
bid, does each of the subcontractors				
provide health insurance coverage to their				
employees that compares to Dallas				
County's health insurance coverage and				